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Mark schemes are prepared by the Principal Examiner and considered, together with the relevant 
questions, by a panel of subject teachers.  This mark scheme includes any amendments made at 
the standardisation meeting attended by all examiners and is the scheme which was used by them 
in this examination.  The standardisation meeting ensures that the mark scheme covers the 
candidates� responses to questions and that every examiner understands and applies it in the 
same correct way.  As preparation for the standardisation meeting each examiner analyses a 
number of candidates� scripts: alternative answers not already covered by the mark scheme are 
discussed at the meeting and legislated for.  If, after this meeting, examiners encounter unusual 
answers which have not been discussed at the meeting they are required to refer these to the 
Principal Examiner.   

It must be stressed that a mark scheme is a working document, in many cases further developed 
and expanded on the basis of candidates� reactions to a particular paper.  Assumptions about 
future mark schemes on the basis of one year�s document should be avoided; whilst the guiding 
principles of assessment remain constant, details will change, depending on the content of a 
particular examination paper. 



Polish � AQA GCSE Mark Scheme, 2005 June series 

 2

LISTENING TESTS 
Notes on the Marking Scheme 
Non-verbal Answers 
Follow the mark scheme as set out. 

Verbal Answers (English or Target Language) 
1. The basic principle of assessment is that candidates should gain credit for what they know, understand and can do.  The following guidance should be 

borne in mind when marking. 
 (a) Credit should be given for all answers which convey the key idea required intelligibly and without ambiguity.  This applies whether the 

answer is in English or in the target language.  A separate assessment of spelling, punctuation and grammar is not required on these papers 
because of the nature of the answers.  However, these aspects are an integral part of assessing communication and marks cannot be awarded 
where errors in spelling, punctuation or grammar lead to a failure to communicate the required information without ambiguity. 

 (b) Where a candidate has given alternatives or additional information in answer, the following criteria should be applied: 
  - if the alternative/addition does not contradict the key idea or make it ambiguous, accept; 
  - if the alternative/addition contradicts the key idea or makes it ambiguous, reject. 

 (c) Where numbered lines are given within a question/section of a question, credit should be given for correct answers, no matter which line they 
appear on. 

 (d) Where a question has more than one section, a candidate may include as part of the answer to one section the information required to answer 
another section.  For instance, the information required to answer section (b) might be given as part of the answer to section (a).  In such 
cases, credit should be given for having answered section (b), provided that no incorrect answer has been given for that section in the correct 
place. 

 (e) Where a question or part of a question carries more than one mark, candidates are given credit for all the correct answers they give, even if 
they have given incorrect answers as well, except where any of the latter contradicts a correct answer that they have given. 

2. ...../..... means that these are acceptable alternative answers.  (.....) means that this information is not needed for full marks. 
3. In questions where candidates are asked to name, for example, three types of vegetable sold in the market, only the first three items they write down 

should be considered. 
4. In multiple choice questions where candidates must choose one letter or number, they should automatically get no mark awarded if they give more 

than one.  If the rubric instructs them to write one letter or number in the box and they do so, but write a second letter or number outside the box too, 
then the answer in the box should be considered. 

5. No mark scheme can cover all possible answers.  When in doubt: 
- look for the key idea, where this is appropriate. 
- t.c. = tout court    NFP = no further penalty    o.c.r. = otherwise correct response 
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LISTENING TESTS   
 
IGNORE PERSONAL PRONOUNS, POSSESSIVE ADJECTIVES, WRONG TENSES 
 

 
 

Question Accept Mark Reject 

1a 
 
 

1b 
 
 

1c 

(i) about first day at school 
(ii) cool / didn�t have lessons      (1 out of 2) 
 
he finishes at 2 pm on Friday 
he has sport on Monday 
 
there are two new boys 
a new maths teacher 

1 
1 
 
1 
1 
 
1 
1 

 

2  1  

3a 
 
 
 
 

3b 
 
 
 
 

3c 
 

(i) g\odna 

(ii)                                            (3 out of 4) 

 
 

(i)   
 
(ii) 
 
 

 

1 
 
3 
 
 
1 
 
3 
 
 
1 
 

 

C

A C ED

A 

B D F

C 
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Question Accept Mark Reject 

 
4a 
 

4b 
 

 
 
 

                                                                     (3 out of 4)  

 
1 
 
3 

 

 
5a 
 

5b 
 

5c 
 

  
1 
 
1 
 
1 
 

 

6   
1  

 
7a 
 

7b 

 1 
 
1 

 

8 w bloku / drugie pivtro / trzypokojowe / ma piwnicv /  
blisko uniwersytetu             (3 out of 5) 

3  

C 

B C D F

A 

B 

A 

B 

B 

C 
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Question Accept Mark Reject 

9a 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

9b 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
1 
 
 
 
 
 
3 
 

 

 

 
 

1

2

3

4

5

6

7

TESCO

OBUWIE 

KIOSK 

ul
. M

at
ej

ki
 

ul. Leśna

Bank   
 
Dom Towarowy   
 
Ul. Parkowa   

3 

4

6 

S



Polish � AQA GCSE Mark Scheme, 2005 June series 

 6

Question Accept Mark Reject 

 
10a 

 
10b 

 
10c 

 

 
 
 
       duxo śmieci w g`rach i lasach  
       brak kultury u turyst`w 
       
 radzi, xeby zabierać swoje śmieci z lasu 

 
1 
 
1 
1 
 

1 

 

 

 

Powtόrzenie has\a 

Ludzie muszq dbać o środowisko  

11 (i) 15 lipca 

(ii) 2 sierpnia 

(iii) 10% 

(iv) 220 z\ / 50% 

(v) 1.100 z\ 

1 
1 
1 
1 
1 

 

12  
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
4 

 

A

A

C

D 

E

  ● 
Poznań

     ● 
Warszawa 

● Krak`w
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Question Accept Mark Reject 

13a 
 
 
 

13b 
 
 
 

13c 
 

Darek: Nie 
            na wsi brak takich moxliwości / 
            w Warszawie moxna znale#ć pracv 
 
Aśka: Nie 
            brak szans / widok`w na przysz\ość 
            nie ma pracy dla dziennikarki 
 
Pawe\: Tak 
            pivkna okolica 
            znajdzie pracv 

 
 
1 
 
 
1 
1 
 
 
1 
1 

 

moxe ca\kiem realnie to planować 
 
 
nie będzie / nie chce być s\olarzem 

14 Dyrektora 
 
Nauczycielki 
 
Psychologa 

1 
 
1 
 
1 

 

15a 
15b 
15c 

a party leader 
to win a Parliamentary Election 
to prove that age does not matter 

1 
1 
1 

youngest chef 
 
to say / to tell / to let other people know that age 
doesn�t matter 

16a 
16b 
16c 

to control her all the time / to keep an eye on her 
she is not satisfied / happy 
she thinks she does not have a private life 

1 
1 
1 

To get in contact with her 

 
Total marks = 60  

P

N

P


